
     

ACC POT, ACC TRI
www.vishay.com Vishay Sfernice

 

Revision: 05-Aug-13 1 Document Number: 51051

For technical questions, contact: sferpottrimmers@vishay.com
THIS DOCUMENT IS SUBJECT TO CHANGE WITHOUT NOTICE. THE PRODUCTS DESCRIBED HEREIN AND THIS DOCUMENT

ARE SUBJECT TO SPECIFIC DISCLAIMERS, SET FORTH AT www.vishay.com/doc?91000

Accessories

DE SHAFT AND PANEL SEALING HARDWARE

TYPE LENGTH WRENCH Ø SHAFT ORDERING INFORMATION PACKAGING

Ø M6 x 0.75 9 12 3 ACCPOTDEB173351950 25

DBAN SHAFT LOCKING

TYPE LENGTH WRENCH Ø SHAFT ORDERING INFORMATION PACKAGING

Ø M10 x 0.75 6.5 12 6 ACCPOTDBB173190100 25

LOCATING PEG

PRODUCT THICKNESS ORDERING INFORMATION PACKAGING

PE30 0.8 ACCPOTLPB153804132 20

LOCATING PEG

PRODUCT THICKNESS L FROM CENTER ORDERING INFORMATION PACKAGING

P11-149 0.4 6.2 mm (0.244") ACCPOTERB253651650 50

P11-149 0.4 7.75 mm (0.305") ACCPOTERB253656660 50

P11-149 0.8 13.5 mm (0.53") ACCPOTERB253653190 50

BASE RAISER

PRODUCT HEIGHT ORDERING INFORMATION PACKAGING

M43 T18 1.6 ACCTRICAB253850610 50



     

ACC POT, ACC TRI
www.vishay.com Vishay Sfernice

 

Revision: 05-Aug-13 2 Document Number: 51051

For technical questions, contact: sferpottrimmers@vishay.com
THIS DOCUMENT IS SUBJECT TO CHANGE WITHOUT NOTICE. THE PRODUCTS DESCRIBED HEREIN AND THIS DOCUMENT

ARE SUBJECT TO SPECIFIC DISCLAIMERS, SET FORTH AT www.vishay.com/doc?91000

NUTS

THICKNESS WRENCH BUSHING ORDERING INFORMATION PACKAGING

Nut H 10 ep. 2.5 14 M10 x 0.75 ACCPOTECB303404310 100

Nut H 7 ep. 2 10 M7 x 0.75 ACCPOTECB303351680 100

Nut H 6 ep. 1.8 10 M6 x 0.75 ACCPOTECB302005700 100

Nut H 6 ep. 1.8 8 M6 x 0.75 ACCPOTECB303651550 100

Nut H 8 ep. 2 12 M8 x 0.75 ACCPOTECB303652600 100

Nut H 10 ep. 2 12 M10 x 0.75 ACCPOTECB303653200 100

Nut H 3/8" ep. 2.5 12.5/1/2" 3/8 32 NEF-2A ACCPOTECB303653230 100

Nut H 1/4" ep. 2 8 1/4 32 NEF-2A ACCPOTECB303430230 100

WASHER

DIAMETER BUSHING ORDERING INFORMATION PACKAGING

Internal washer JZ Ø 10 or 3/8" M10 x 0.75 ACCPOTRDB300685710 100

Internal washer JZ Ø 7 M7 x 0.75 ACCPOTRDB300683707 100

Internal washer JZ Ø 6 M6 x 0.75 ACCPOTRDB300683706 100

External washer JZ Ø 1/4" 1/4 32 NEF-2A ACCPOTRDB003430600 100

Internal washer 3/8" 3/8 32 NEF-2A ACCPOTRDB300683952 100

O RING 

TYPE PRODUCT DIMENSIONS ORDERING INFORMATION PACKAGING

Panel O ring toric PRV6 Ø int 8 mm/Ø tore 1 mm ACCPOTJOB303342420 100

Panel O ring plate P16 Ø ext 13.2 mm/Ø int 9.7 mm/Ep 0.8 mm ACCPOTJOB303753950 100

Panel O ring plate P11P Ø ext 12.5 mm/Ø int 9.5 mm/Ep 1.2 mm ACCPOTJOB303652780 100

HEXAGONAL LOCKING NUT

TYPE LENGTH WRENCH Ø SHAFT ORDERING INFORMATION PACKAGING

Hex nut M6 x 0.75 10 10 3 ACCPOTECB253651420 50



     

ACC POT, ACC TRI
www.vishay.com Vishay Sfernice

 

Revision: 05-Aug-13 3 Document Number: 51051

For technical questions, contact: sferpottrimmers@vishay.com
THIS DOCUMENT IS SUBJECT TO CHANGE WITHOUT NOTICE. THE PRODUCTS DESCRIBED HEREIN AND THIS DOCUMENT

ARE SUBJECT TO SPECIFIC DISCLAIMERS, SET FORTH AT www.vishay.com/doc?91000

LOCKING NUT FOR SLOTTED BUSHING

TYPE WRENCH SHAFT DIAMETER PRODUCT ORDERING INFORMATION PACKAGING

Locking nut Ø 6.35 
mm 8 3.17 mm P11 - PRV6/D or E ACCPOTECB303656590 100

Locking nut Ø 6 
mm 8 3 mm P13/O ACCPOTECB303430400 100

GLOBAL PART NUMBER INFORMATION

MODEL STYLE
PACKAGING

CODE
SPECIAL NUMBER

ACCPOT =
For potentiometers

ACCTRI = For trimmers

EC = Nut
ER = Peg

CA = Spacer
LP = LPRP
DB = DBAN
JO = Ring

DE = Sealing system

B15 = Box of 20 pieces
B17 = Box of 25 pieces
B25 = Box of 50 pieces

B30 = Box of 100 pieces

Given by Vishay

PART NUMBER DESCRIPTION (for information only)

AC ECR0UH10 POT 3404310 e

MODEL STYLE SPECIAL SPECIAL LEAD (Pb)-FREE

C B 3 0 4 0 43T 3 1 0OC P EA C



 

Общество с ограниченной ответственностью  «МосЧип»   ИНН 7719860671 / КПП 771901001                                                                                                                                                     
Адрес: 105318, г.Москва, ул.Щербаковская д.3, офис 1107 

                                        

Данный компонент на территории Российской Федерации 

Вы можете приобрести в компании MosChip. 

    

   Для оперативного оформления запроса Вам необходимо перейти по данной ссылке: 

      http://moschip.ru/get-element 

   Вы  можете разместить у нас заказ  для любого Вашего  проекта, будь то 
серийное    производство  или  разработка единичного прибора.   
 
В нашем ассортименте представлены ведущие мировые производители активных и 
пассивных электронных компонентов.   
 
Нашей специализацией является поставка электронной компонентной базы 
двойного назначения, продукции таких производителей как XILINX, Intel 
(ex.ALTERA), Vicor, Microchip, Texas Instruments, Analog Devices, Mini-Circuits, 
Amphenol, Glenair. 
 
Сотрудничество с глобальными дистрибьюторами электронных компонентов, 
предоставляет возможность заказывать и получать с международных складов 
практически любой перечень компонентов в оптимальные для Вас сроки. 
 
На всех этапах разработки и производства наши партнеры могут получить 
квалифицированную поддержку опытных инженеров. 
 
Система менеджмента качества компании отвечает требованиям в соответствии с  
ГОСТ Р ИСО 9001, ГОСТ РВ 0015-002 и ЭС РД 009 
 
 

      

            Офис по работе с юридическими лицами: 
 

105318, г.Москва,  ул.Щербаковская д.3, офис 1107, 1118, ДЦ «Щербаковский» 
 
Телефон: +7 495 668-12-70 (многоканальный) 
 
Факс: +7 495 668-12-70 (доб.304) 
 
E-mail: info@moschip.ru 
 
Skype отдела продаж: 
moschip.ru 
moschip.ru_4 
              

moschip.ru_6 
moschip.ru_9 
 

 

mailto:info@moschip.ru

